



09/02/2022 10:00 AM | Delivery 09/03/2022 09:00 AM | Touch Ups 09/04/2022 10:00 AM | Strike

P0:

Shipping Address:

Audrey irmas pavilion at 3663 Wilshire blvd LA 90019

Invoice Date:

White Bow Events

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions					
	Garden Descanso Gardens Bistro Table Painted Hot Pink Benjamin Moore: Razzle Dazzle #1348	2	\$250.00	Т	\$500.00
	Las Vegas Dining Table 6'x40" - Painted Painted Hot Pink Benjamin Moore: Razzle Dazzle #1348	1	\$450.00	Т	\$450.00
	Hidden Garden Chair - Wire Chair painted Light Pink Behr: Pink Hydrangea 160A-3 White Cushion	4	\$45.00	Т	\$180.00
			Total Additions		\$1,130.00
Outside Seating					
	Shakespear Garden Sofa - Metal Frame painted Teal Benjamin Moore: Palm Coast Teal (733)	4	\$550.00	Т	\$2,200.00
	Shakespear Garden Chair - Metal Frame painted Light Pink Behr: Pink Hydrangea 160A-3	4	\$250.00	Т	\$1,000.00
	Toronto Rectangular Coffee Table Frame painted Teal Benjamin Moore: Palm Coast Teal (733) Glass insert	4	\$225.00	Т	\$900.00
	Giardino Delle Rose - Chair 01 White Frame Custom Pink Cushion Color *Similar to Pink Hydrangea paint*	10	\$24.00	Т	\$240.00
	Giardino Delle Rose - Chair 04 White Frame Custom Pink Cushion Color *Similar to Pink Hydrangea paint*	10	\$24.00	T	\$240.00
	Giardino Delle Rose Bistro Table - Metal & Glass 30"D Frame painted Teal Benjamin Moore: Palm Coast Teal (733)	4	\$250.00	T	\$1,000.00

Description		Qtty	Price		Total
	Garden Bistro & Stand Up Tables - Jardin Des Tuileries - Stand Up Frame painted Light Pink Behr: Pink Hydrangea 160A-3	3	\$200.00	T	\$600.00
	Straight Barback 6'L Frame painted Teal Benjamin Moore: Palm Coast Teal (733)	2	\$265.00	T	\$530.00
	Ottomans - Standard Pod White Linen	12	\$45.00	T	\$540.00
	Accent Pillows	20	\$35.00	Т	\$700.00
		Т	otal Outside Sea	\$7,950.00	
Adult Dining					
	Garden Dining Chair - Giardino Dell' Iris Cushion Cover: Natural Cotton Frame painted Light Pink Behr: Pink Hydrangea 160A-3	58	\$24.00	Т	\$1,392.00
	Tuscany Dining Table 8'x48" Painted Hot Pink Benjamin Moore: Razzle Dazzle #1348	6	\$450.00	Т	\$2,700.00
	Aspen Dining Chair - White Wood paired with Round Dining Tables	24	\$25.00	T	\$600.00
	Monaco Round Booth (Thin) 2pcs - White Channeled	6	\$600.00	Т	\$3,600.00
			Total Adult Dining		\$8,292.00
Inside Kids Area	& Lounge				
	Ibiza Sofa - Half Moon White Suede	4	\$450.00	Т	\$1,800.00
5	Berlin Serpentine (3 Piece Set) - WHITE	1	\$850.00	T	\$850.00
	Toronto Oval Coffee Table Frame painted Teal Benjamin Moore: Palm Coast Teal (733)	2	\$225.00	Т	\$450.00
	Toronto Coffee Table - Oval Frame Frame painted Light Pink Behr: Pink Hydrangea 160A-3	4	\$225.00	T	\$900.00

escription		Qtty	Price		Total
3	Miami Accent Table- White Loop Painted Hot Pink Benjamin Moore: Razzle Dazzle #1348	5	\$115.00	Т	\$575.00
	Ottomans - Standard Pod light Pink, Neon pink, Neon Yellow, Teal	30	\$45.00	T	\$1,350.00
	Accent Pillows	30	\$35.00	T	\$1,050.00
	Tokyo Communal Table - 10'L Frame & Top painted Teal Benjamin Moore: Palm Coast Teal (733)	2	\$250.00	T	\$500.00
	Palm Springs Barstools - White Frame	20	\$25.00	Т	\$500.00
	Straight Barback 8'L Frame painted Teal Benjamin Moore: Palm Coast Teal (733)	1	\$275.00	T	\$275.00
		Total Inside Kids Area & Lounge			\$8,250.00
essert & Food	Stations				
	Garden Bistro & Stand Up Tables - Jardin Des Tuileries - Stand Up Frame painted Teal Benjamin Moore: Palm Coast Teal (733)	3	\$200.00	T	\$600.00
	Giardino Delle Rose Bistro Table - Metal & Glass 30"D Painted Neon Yellow Behr: Buzz In P300-6D	4	\$250.00	Т	\$1,000.00
N N	Giardino Delle Rose - Chair 01 Frame painted Pink Behr: Starlet Pink P120-1 White Cushion	5	\$24.00	T	\$120.00
	Giardino Delle Rose - Chair 02 Frame painted Pink Behr: Starlet Pink P120-1 White Cushion	2	\$24.00	T	\$48.00
	Giardino Delle Rose - Chair 03 Frame painted Pink Behr: Starlet Pink P120-1 White Cushion	2	\$24.00	Т	\$48.00
NT.	Giardino Delle Rose - Chair 04 Frame painted Pink Behr: Starlet Pink P120-1 White Cushion	10	\$24.00	Т	\$240.00
		Total Dessert & Food Stations			40.054.00
		Total Dess	ert & Food Stati	ons	\$2,056.00

Description		Qtty	Price		Total
	Garden Sofas - Hyde Park - Sofa Cushion Cover White Linen W / Piping Frame painted Teal Benjamin Moore: Palm Coast Teal (733)	2	\$400.00	Т	\$800.00
	Garden Club & Lounge Chairs - Hyde Park - Chair Cushion Cover White Linen W/ Piping Frame painted Light Pink Behr: Pink Hydrangea 160A-3	4	\$225.00	T	\$900.00
	Coffee Tables - Toronto - Oval Frame painted Teal Benjamin Moore: Palm Coast Teal (733)	2	\$225.00	Т	\$450.00
	Ottoman Pod 18"D White	4	\$45.00	Т	\$180.00
	Shelving Unit Cubbie Painted Neon Yellow Behr: Buzz In P300-6D	6	\$225.00	Т	\$1,350.00
	Garden Descanso Gardens Bistro Table 40"D painted Light Pink Behr: Pink Hydrangea 160A-3	1	\$250.00	Т	\$250.00
	Garden Dining Chair - Dell Iris Cushion Cover: Natural Cotton Painted Hot Pink Benjamin Moore: Razzle Dazzle #1348 Off White Cushion	4	\$24.00	Т	\$96.00
			Total Kids Game Area		\$4,026.00
Services					
	Installers: Install Friday	8	\$500.00		\$4,000.00
	Installers: Touch Ups Saturday	4	\$400.00		\$1,600.00
	Installers: Strike	8	\$400.00		\$3,200.00
	Trucking: 24'L	4	\$450.00	Т	\$1,800.00
	Trucking: Fuel Surcharge	4	\$85.00	Т	\$340.00
	Manager: Designs & LAyouts	1	\$650.00		\$650.00
	Manager: Onsite (1) Day	1	\$750.00		\$750.00
	Supplies: Misc	1	\$650.00		\$650.00

Please make checks payable to Revelry, Inc.

Total Products: \$31,704.00

Total Labor/Services/Misc: \$12,990.00

Balance:

Taxes: \$3,215.18

Discounts: (\$0.00)

Total: \$47,909.18

\$0.00

Payments: (\$47,909.18)